—_— 3I3T = 2y i
(4] T=ZRERK FHET
i A = N
RERE - EEBESE 98308 (£) 178004 £ RTILZa—A4FY

[RRERF - RELF] =15 . FHREMEREHBGERKE (WAYAIZ12@H)

10A28 () 10838 (A) 10848 (1) 10858 (K)
REST @B 900 |MERT 2EH  9:00|HEBRT EARB 0:00|HEBTF REEB 000
(6:A) 65tE) MEST #ERB  FB|[REBT 3~4Z  9:00
@8 F.B|M&EST 8% FB|RERF 5~8f F.B|MEBF 5~6f1  9:00
(10542 QEtE) REEF T~8f  9:00
RELZTF IEH 900 |HERT 2EE 9:00|MELTF EARE 900 |HmELTF RE®  9:00
(6:A) (65tE) MELT HERE  FB |HEKTF 3~4F  9:00
mELT? IEE F.B |M&RXTF 2@ F.B|MEXKF 5~8fr F.B|MEKXF 5~6f  9:00
(10882) Qe RELF T~8  9:00
(LEBT - bELT] 215 FARLSEHAET-ZR0—k (BAYATZI6E)

10R28 (8) 0R38 () 10R48 (90 T0A58 0K
HEBF 1@EEE 9:00(AEBRF 3@EEK F.B|VEBRF ELRE 9:00(VDFEBEF  REE 9:00
(15548 @HA) SEBF R FB|[DEBT 3~ 9:00
LEBT  2EE  F.B SEBF 5~8f F.B |DEBF 5~6f  9:00
(16588 LEFF I~8 9:00
LELTF IEH  FB|LFLT 2EB 9:00| LT EARE 9:00|LELF AME  9:00
(15588 (16588) SEXT R FB |DEKF 3~4F  9:00
SELF JEB F.B |LEKF 5~88 F.B|DEXKF 5~6 900
Bta) DELF T~8  9:00

F.B(Followed by) @izt &I25] = =Bith

BAlRER

eaREX

10858 (/K) 1485005 (F3E)
=I5 MARKEEDLEARTESE




